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.param rccs 550

.param Rs 47

.param RVASL 330k

.param VRE 120

.param k3 0.498

.param RpotM=10k

;step param k3 0 1 0.1

(-)
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22mA

170mA

http://www.zen22142.zen.co.uk/Theory/re_model.htm

re=26/I
re=26/9.7=2.68ohm
Re=10re

creates square distortion
in base of VAS

CCS adjust (1k)

NPN
NPN

MJE15032C

MJE15033C
ksa1381

ksc3503

KSC1845

R57 = R62 // R58

2.  Prevent the CCS starting until there is a few volts across the rail.  During turn on this means the LTP does not turn on so that no part of the amplifier can create a large offset at the speaker.

Q12 the KSC3503 has higher Early voltage which makes it a better current source. The 2SC4793 might work even better. Medium power transistors often have very high Early voltage.
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